	GA-714A PAC

	PATN #1:
	PATN #2:

	Conditions

	PA:
	FAT:

	Expected Values

	Parameter
	MCP*
	MPC**

	MAX Charted PTIT
	
	

	MAX Charted N1
	
	

	MIN Torque
	
	

	Actual Values

	
	MCP 1
	MPC 1
	MCP 2
	MPC 2

	N1
	
	
	
	

	Fuel Flow
	
	
	
	

	Charted PTIT
	
	
	
	

	Recorded PTIT
	
	
	
	

	Margin Value
	
	
	
	

	PAC Margin
	
	
	
	

	DECU PAT Value
	
	
	
	

	PATN Adjustment
	
	
	
	

	Adjusted PATN
	
	
	
	

	Trigger Value
	
	
	
	

	*MCP for values above -25(C, PTIT = 806(C.  **MPC for values above -5(C, PTIT = 899(C.
Recorded PTIT must be equal to or less than the Max Charted PTIT value.  From the Max Charted PTIT value, subtract the Recorded PTIT Value.  This is the Margin Value.  Divide that by 5 and round to nearest whole number.  This is the PAC Margin.   Enter DECU PAT Switch value.  From the Logbook Chart, determine PACN Adjustment.  Subtract the PATN adjustment from the DECU PAT Value.  This is the Adjusted PATN.  From the Adjusted PATN, subtract the PAC Margin Value.  This is the Trigger value. 


